
1.  Find the domain of each of the functions shown.  Use INTERVAL notation for your answers.


a.  				b.  



c.   				d.  


2. Solve each equation or inequality. Make sure to check for extraneous solutions.
Write your solution to any inequalities in interval notation.



a) 		b)  			c) 	





d. 			e. 





f. 			g) 			




h. 


Answers
1.

a) ________________________________


b)_________________________________


c) __________________________________


d) __________________________________


2.

a) ________________________________


b)_________________________________


c) __________________________________


d) __________________________________


e) ________________________________


f)_________________________________


g) __________________________________


h) __________________________________


Answers

1a. 

b. 

c. 

d. 

2a.

b. 
c. x = 10 [10,10]

d. 

e. 
f. no solution
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